Miles to kilometres and kilometres to miles. Remember: 8km = 5 miles and 1.6km is approximately 1 mile
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The distance from Edinburgh
to Glasgow is approximately
80km. What s this in miles to
the nearest whole number?

Year 6 - Spring- M... X
Statement Fluency Reasoning Problem Solving
« Complete the statements; Agree or disagree? = The tally chart below shows the number of
Itis easier to convert from miles to miles different drivers did in a day.
a) 5 miles is approximately kilometres rather than kilometres
—km. to miles. Wihal | T
b) 40 kilometres is approximately Explain your answer.
.. miles. David |1l
Always, sometimes, never
«  Convert between miles and When converting from miles to Abdul | WA
kilometres rounding to the kilometres, it is easier to multiply
. nearest whole number: by 1.5 then add the extra tenths on Claire | l—
c atthe end
o Kilometres Michael ran the London Marathon When Stefan’s miles are added to it the
= 1.6km which was 26.2miles. Shafi ran 42 ‘whole amount of kilometres driven can be
@ | Convert between miles and kilometres in a charity race over 3 rounded to 50 when rounded to the
& | kilometres. 2 miles days. Who ran the furthest? nearest 10. How many miles did Stefan
S drive? Have you found all the possibilities?
? 28km
© Eries « Miles and his 6 friends take partin a 5km
ko) charity race. Between them, how many
= 6km miles do they run altogether?
20 miles





